
50kg (110lbs)

Stroke 660mm

INSTALLATION MANUAL

DQ TV lift Ares S
DQ20-1069





A (x1) B (x1) D (x2)

2

E (x1)

G (x1) I (x1)F (x1)

J (x1)

M6x30 (x4)
M-E

M-G (x4) M-H (x4)

M5x30 (x4)
M-D

M8x15 (x4)
M-C

M6x15 (x4)
M-B

M5x15(x4)
M-A

M8x30 (x4)
M-F

M8x16 (x6)
K

M6x20 (x6)
L

M (x1)

W-A (x4) W-B (x4) W-C (x4)

H (x1)

C (x1)



1a

3

F

F

W-AW-C



1b

4

F

F

W-AW-CW-B



5

2

3

A

M

A

W-A

W-B

OR

W-C W-A

W-C W-A

K



4

6

5

M

>5mm
K

M-G

M-A
M-B
M-C

M-G

M-D
M-E
M-F

M-H

K



8

5a-1 5b-1

Option A: 
Height range: 425-1085mm

Option B:  
Height range: 750-1410mm

L

C

L

C

M

M

B

B

C B B C



8

5a-2 5b-2

M

M

42
5-

10
85

m
m

75
0-

14
10

m
m

K

K



9

5a-3 5b-3

M

E
L

M

E

L

6



10

7

2-2

1 G 2-1
G H

3

I

G

H I



11

8

J

RST

M1

SET

M2

HOME

Reset
Press “  RST  ”for 3 seconds until buzz.  The stand will move down to bottom 
and then raise 1cm and buzz again indicates reset is done.

Height Adjustment
Press and hold  “    ”,  “     ”to lift the stand.
Press  “Home”  to make the stand down to the bottom and it will stop by Press 
“Home”  again.

Memory Setting
Holding  “  M1  ” or  “  M2  ” for 3 seconds until buzz to indicate the memory 
position is set successfully.  Press “  M1 ” or  “  M2  ”to adjust to the position set 
as memory.

Remote control manual


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

